88

FUFE / Product Number

AUX

Hfi%

H dimension

Wtk

W dimension

D~fi%

D dimension

BT/ =h)LF7—74 / Technical Datall

#{4TRJLY / Recommended torque : 0.3N*m ~ 0.6N*m

FILZE

Aluminium Feet

EH.E R4E#E / Original trapezoid head screw specification

EXP/H)
Screw (P or H)

[P] 735X / Phillips

7vA / Hexagon—socket

£81+#% / Color Type

fitHk

Color Type

#ERNZA / Components

7

No. 2 / Part name #= / Pcs #ME / Material & - RMEMIE / Color:Finish
a—F—JAavy 4 FILEH A Fx X~ ADC12 DIVR—, Ty B (REELE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
Rtk 4 T IV H# A6063S-T5 DIWIN— , TS5Y5-FILIAk
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
HiN— : 7 L4 A1100P DIWIN—  TZVT-TILIA
Top cover Aluminium A1100P Silver , Black*Anodized
THhiN— : 7 L4k A1100P DIWIN—  TZVT-TILIA
Bottom cover Aluminium A1100P Silver , Black*Anodized
FILZE B T & YavT L DIN— TV TILIAL T
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
HR{FE R (M3 x 8) - % =TIV AVE
Screw (Flat head M3 — 8) Steel Nickel plated
R{FER (AFM3 x 5) g % =L AvE | ZEE/aA—+
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
BTE R U1 KM4 x 8) 4 &% =lEsaA—+
Screw (Bind head M4 - 8) Steel Black trivalent chromate

@
=)
3

2% / Code | a—F—7J0Ow% / Corner block {BI#x / Frame $378— / Top cover | F7//3— / Bottom cover | 7L / Aluminium feet
S S < )LsN— / Silver 2 JL78— / Silver 2 JLsN— / Silver 2 JL1S— / Silver 2 JL1S— / Silver
S B 5% / Black 2 )LsS— / Silver 2 )LsS— / Silver 2 JL13A— / Silver 2 JL13A— / Silver
B X 7359% / Black 75974 / Black 2 JLsN— / Silver 2 JLIN— / Silver 2 JLIN— / Silver
B B 75v% / Black 7599 / Black 7594 / Black 75v% / Black 7594 / Black

BRASHEIHTFERIE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fmf/Title
FIILIarka—)LRyo R
ALUMINIUM CONTROL BOX

o]

7 5%/ Approved

iR

#%[X|/Checked #I[X/Created

x wF

FIE /Product number

AUX88-36-16AL1-10J

RIE/Scale

YERZ B /Date 2023/11/15

R—T/Page

1 /76

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




153

A-A(1:5)

D view

B view

E view

10
o
H
o
©

A view
™ C
0L
T9)
o
©

C view

360 *=0.5

113

F view

C-C(1:5)

27

|

313

fmf/Title
FIILIarka—)LRyo R
ALUMINIUM CONTROL BOX

o]

B-B(1:5)
TAKACHI| MXSHADFERIE
TAKACHI ELECTRONICS ENCLOSURE CO., LTD.
7 B/ Approved #%[X|/Checked #1[X]/Created
iR = mF
353

FIE /Product number

AUX88-36-16AL1-10J

RE/Scale
1:5

YERZ B /Date 2023/11/22

R— /Page

2 /6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A %% / A Frame

87

14

R / Front side

B {l#x / B Frame

XM / Front side

310 225
™
(e
™
™
™~
[e0]
Lo
25
™
™
\"‘|_‘_‘_7-a
(ap)
) L73)
& S
2-M3AHY % 5

2—-M3 Countersunk
X RXTmE+EREFE / Same on the other side.

K2 i

Z M / Back side

% / Back side

BRASHEIHTFERIE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title
GRS

Frame

o]

7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:25
iR £ wF ~R—/Page
H88 — W360 YERLH/Date 2023/11/217 3/ 6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

110 22.5
[ap)
era¥
@
™
~
= S
2.5
g
™
\FFII
[ap)
<
5 2-M3FH I 5
2-M3 Countersunk
X RxIEH Rk / Same on the other side. N
R / Front side Z M / Back side
D {8I#% / D Frame
(L
\-"‘l_’t‘r-:l
M@ / Front side ZEM / Back side
fnd/Title
TAKACHI] #RXEitahFERTE iR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 B/ Approved t&X]/Checked #1[X]/Created FIFE /Product number RE/Scale
1:2
iR £ wF ~R—/Page
H88 - D160 YERLH/Date 2023/11/27 4 / 6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




349.4

4-R14.7 330
/o X
3 8
\& &

A% / Max dim. 313 £ 0.5

3R / Front side

4-BA45

BTk / Max dim. 113 £ 0.5

fREES — A

Surface protective film side

2 / Back side

md/Title
BRASHINFEHIE H18— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
778/ Approved 1%/ Checked #U[X]/Created 4 F/Product number Rg/fc;ale
:3.5
PR =3 BF R—/Page
W360 - D160 {ER B /Date 2023/12/13 5 / 6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

1494
130
101.4

M / Front side

3494

330

301.4

e b
o o\
< (4

9 o/
\ e

BE#~ti% / Max dim. 313+ 05

BM~T%E / Max dim. 113+ 05

4-§4.5

4-M4

REE S — A

Surface protective film side

5/ / Back side

J

\0

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title
ThiN—

Bottom cover

o]

7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:35
PR =3 BF R—/Page
W360 - D160 {ERL B /Date 2023/12/14 6 / 6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




